1.

@ 2x(y +2)

@ 4x(y+2)

® x(3y+2)



2. Bx+1)2-(2x-3)2=0Gx+a)(x+b) D, a-b 2 F2?

D 5 ® -1 B —6 @ =10 B —-12



3. (2a-3b)? - (4a-5b)% = 4(ma + nb)(b - pa) & W, mn - p °| I
ok

D =11 ® 13 3 —-13 @ 11 B -2



4.

2 - (2 -6y +9) & Jds-EalctH?

@ (x—y=-5)(x—y+2) @ (x=y+5)(x—y+2)

® (x+y-3)(x-y-3) @ (x+y+3)(x—-y+3)

® (x+y-3)(x—-y+3)



D E F

’ Y
/ \

o5 293 2 JAL Y
ABED, BCFE 9|4 BD =
BP, BF = BQ ¢ # P, Q /

X

/

M)

E $AA4 o Ze o, A P AQB) B@) C(S)é
P(a), Q(b) °ll tholod, a® — b? 9] FH-& F5HA?

D 16v2 @ -16v2 ® 2011643
@ 20-16V2 G —20— 162



6. x=-1+ V3L, 4x®+8x+4 2 FS Fahd?

@D 10 ? 12 3 13 @ 14 B 15



: A uff, x2 + 3xy + y? o] 27

3 9 @ 12 3 15



2 2
2o
xy 7} oheah e ), x—y” o] e

1

1

= \/5_17)’

V2+1

D V2

@ 3

B3 242

@ 342

B 442




o
o
N
o
I
ol

V225 - \J(=6) + /(=3 x 21 = VB2 - (=)’

o 7 ® 10 @ 13 B 19

D -11



10. A= (-v0) = (=v5) = V(-2)% B= V& + (-v2)" + /(=5)*x

2
(ﬁ) o, 4B H& 7o

D =60 O —48 3 10 @ 48 B 60



1 0 (2
T §=3“’E1”41,a+b94%l%¥’5}fﬂ?



] E}%IO]E]——E—B]_L}%?
@ VIO - Vis?
@_m

® - \/;Xi

® (—@)QX(@)Q:



13. [a, b, ] =(a-b)(a—c)S W, [a, b, c]-[b, a, c]E 5N,
(xa+yb+zc)(pa+gb+rc) oItk ol W, x+y+z+p+qg+r Y
27

D -1 @ 3 3 0 @ 2 ® -2



14. o5 H7] oA 243 — a®b - 3ab? ©] A5 B5F IE A7
H7]
Q@ a © a-b © a+b
@ 2a-b @ 2a-+2b ® 2a-3b
ONGHC) ©® 9,6, ® e e
ONORENC) B O, . O




@ (x+1)(y+a)

@ (x-1)(y-a)



16. o3 27| F xy(2x +3y) —xy(x +y) & QI5E BF 1E HL29

H7]
@ xy © x+y ©® x+2y
® 2x+3y © x(x+2y) ® y(x+y)
® ©,6 ® 0,0,0 ® 0,06
@ ©,®,0 ® ©, O,




